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7 100kN/mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.00 | 000 ~ 736 93.89 | =hst 000 ~ 736|177 9.48 zhnLst 1.00 | 5.00 ~ 9.50 93.89 | =nLs | 6.00 ~ 956011.77 9.48
2 100kN/mM#Z#B X % — - ~ — —|3m%&#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — — |3mZEHBZD -~ — — —
Zzh st 100|000 ~ 759 97.22 | #hist | 000 ~ 759|1.81 9.70 Zzh st 100|500 ~ 1010 9722 | #hSt | 5,00 ~ 1010| 1.81 9.70
3 100kN/mM#Z#B X % — - ~ — —|3m%&#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.00 | 000 ~ 6.78 85.70 | s | 000 ~ 000 1.71 915 zhnLst 1.00 | 5.00 ~ 830 85.70 | Fhst | 65.00 ~ 830|171 915
4 100kN/ mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.00) 000 ~ 625 78.49 | ThLS | 000 ~ 000 1.62 8.68 zhnLst 1.00 | 5.00 ~ 760 7849 | ThLUSN | 600 ~ 7.60 )] 1.62 8.68
5 100kN/mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — — |3mZEHBZD -~ — — —
Zhst 1.00) 000 ~ 594 7443 | FhUs | 000 ~ 0.00| 1.65 8.82 ZFh st 100|500 ~ 690 74.43 | TS | 500 ~ 6.90 | 1.65 8.82
6 100kN/mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
Zzh st — — ~ — —| Zn st — ~ — — — Zzh st — - ~ — —| Zn st — ~ — — —
7 100kN/ mM#Z#B X % — - ~ — —|3m%&#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.00 1 000 ~ 452 56.34 | Ths | 000 ~ 452|191 10.24 Zzh st 1.00 | 5.00 ~ 5.00 56.34 | =nLs | 500 ~ 500 1.91 10.24
P 100kN/ mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1001000 ~ 711 90.39 | =hs (000 ~ 711173 9.26 Zzh st 1.0015.00 ~ 897 90.39 | =nS | 600 ~ 897 1.73 9.26
9 100kN/ mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.001 000 ~ 6.54 8238 | #nst | 0oo ~ 6541| 1.88 10.04 Zzh st 1.00 | 5.00 ~ 807 82.38 | #hs | 5.00 ~ 807|188 10.04
10 100kN/mM%Z#BZ25| 100|000 ~ 036 10525 |3mEBZB| — ~ — — — | 100kN/m%E#BZB | 1.00 | 1078 ~ 11.74| 105.25 |3mEBZ3 -~ — — —
zhnLst 1001036 ~ 814 100.00 | =nst | 000 ~ 814 2.30 12.32 zhnLst 1.00 |1 5.00 ~ 1078 100.00 | #nS | 5.00 ~ 11.74| 2.30 12.32
11 100kN/ mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 1.00 1 000 ~ 681 86.20 | =nst | 000 ~ 681|265 14.19 zhnLst 1.0015.00 ~ 1128 86.20 | #hs | 5.00 ~ 11.28| 2.65 14.19
12 100kN/mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 3 — - ~ — —|3mZEHBZD -~ — — —
zhnLst 100000 ~ 423 52.92 | #hst 000 ~ 423|201 10.75 Zzh st 1.00 | 5.00 ~ 5.00 5292 | =nLst | 500 ~ 500201 10.75
100kN/ mM#Z#BZ % ~ 3mExEZD ~ 100kN/ M#Z#BZ % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/ mM#Z#B X % ~ 3mExEZD ~ 100kN/M#Z#BZ % ~ 3mExEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh st ~
100kN/mM#Z#BZ % ~ 3mExEZD ~ 100kN/mM#Z#BZ % ~ 3mExEZD ~
Zh st ~ Zhs ~ Zh st ~ Zh s ~
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